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Paper II 
Question Booklet series code : D 

Part I 
Child Development and Pedagogy 

1. Gpf<jkgjt!Dg<Guqh<hkx<gig!Nsqiqbi<!yu<ouiV!osbz<him<ce<!LcuqZl<!-eqh<Hgt<!
upr<GuK!
A.!!!!Lkeqjz!uZU,m<ml<Lkeqjz!uZU,m<ml<Lkeqjz!uZU,m<ml<Lkeqjz!uZU,m<ml<! ! ! B.!-v{<mil<!fqjz!uZU,m<ml<!
C.!&e<xil<!fqjz!uZU,m<ml<! ! ! D.!-ux<Xt<!wKUlqz<jz!
In order to motivate children, a teacher offers some sweets for the completion of each problem. This is 
a 
A. Primary reinforce    B. Secondary reinforce    
C. Tertiary reinforce    D. none of these. 

3/ oux<xqg<!gtqh<hqz<!-Vg<Gl<!Gpf<jk!wu<uqkk<!Okjujb!wkqi<Ofig<GgqxK@!
A.!!!!nvuj{h<Hnvuj{h<Hnvuj{h<Hnvuj{h<H! ! B.!nElkq!wkqi<hii<kkz<<!!!C.!njmu! D.!hiKgih<H!d{i<U!
A child who is more delighted with success, is possessing the need for 
A. affection   B. approval  C. achievement  D. security!

4/ Nsqiqbi<!keK!gx<hqk<kzqz<!uqjtbim<M!Ljxjb!dx<sigh<hMk<KuK!
A.!Hxub!Dg<Guqk<kz<!! ! ! B.!ngub!Dg<Guqk<kz<!
C.!!!!njmu!Dg<Guqk<kz<njmu!Dg<Guqk<kz<njmu!Dg<Guqk<kz<njmu!Dg<Guqk<kz<! ! ! D.!-ux<Xt<!wKUlqz<jz!
A teacher who encourages the playway method in his teaching explores 
A. Extrinsic motivation    B. Intrinsic motivation 
C. Achievement motivation   D. none of these!

5/ Nsqiqbi<!keK!him!fmk<Kkzqe<!kqm<ml<!kbiiqk<kzqz<!hqe<uVueux<Xt<!wl<Ljx!
ohiVk<kliekig!gVkh<hMgqxK@!
A.!!!!s&g!ujvuqbz<!Ljxs&g!ujvuqbz<!Ljxs&g!ujvuqbz<!Ljxs&g!ujvuqbz<!Ljx! ! ! B.!NTjl!Ljx! ! !!!!
C.!Ng<gk<kqxe<!Ljx! ! ! ! D.!F{<{xqU!Ljx!
What type of tests are most suitable for the teacher in planning his teaching strategies? 
A. Sociometric tests B. Personality tests   C. Creativity tests D. Intelligence tests!

6/ yV!keqfhiqe<!lqgh<!ohiVk<kh<him<M!fmk<jkjb!outqg<gim<Ml<!G{fze<!
A.!!!!fe<G!Oll<hMk<kh<hm<m!Oleqjz!lel<fe<G!Oll<hMk<kh<hm<m!Oleqjz!lel<fe<G!Oll<hMk<kh<hm<m!Oleqjz!lel<fe<G!Oll<hMk<kh<hm<m!Oleqjz!lel<!
B.!fe<G!fqjzh<hmk<kh<hm<m!ke<E{i<U!lel<!
C.!kip<fqjz!leK!Oleqjz!lejk!Nkqg<gl<!osb<kz<!
D.!kip<fqjz!lel<?!ke<E{i<U!lel<!lx<Xl<!Oleqjz!lel<!wz<ziLl<!yVr<OgfzLme<!
-Vg<Gl<!fqjz!
An individual showing well adjusted personality is characterised by 
A. well developed superego   B. well balanced ego 
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C. domination of id over superego  D. id, ego and superego are equally powerful.!
6. gcelie!himh<hGkqjb!gx<hqg<g!Nsqiqbi<!‘uqVh<hlie!K~{<MohiVjt’!hbe<hMk<Kgqxii</!nK!

-s<osbz<him<cje!lQ{Ml<!lQ{Ml<!osb<ukiz<!li{ui<gt<himk<kqje!uqVl<Hgqxii<gt</!-K!
A.!Lbe<X!kuxqg<!gx<xz<! ! ! B.!!!!Ng<g!fqjzbqXk<kzNg<g!fqjzbqXk<kzNg<g!fqjzbqXk<kzNg<g!fqjzbqXk<kz<!!!!
C.!Hze<gim<sqg<!gx<xz<! ! ! ! D.!gVuqsii<!Ng<g!fqjzbqXk<kl<!
A teacher tries to teach a complex idea with the help of some pleasant stimulus  and after repeated use 
of the situations, the students liked the subject. The theory underlying this method is 
A. Trial and Error learning   B. Classical conditioning 
C. Perceptual learning    D. Operant conditioning 

7. K~{<mz<!.!Kzr<gz<!ujgg<gx<xz<!wf<kg<!Ogim<him<ceqz<!fqjzbqVk<kh<hMgqxK@!
A.!!!!Ng<g!fqjzbqVk<kl<Ng<g!fqjzbqVk<kl<Ng<g!fqjzbqVk<kl<Ng<g!fqjzbqVk<kl<!! ! ! B.!o\^<miz<m<!gx<xz<!
C.!Lbe<X!kuxqg<!gx<xz<! ! ! ! D.!gVuqsii<!Ng<g!fqjzbqXk<kl<!
Stimulus-Reponse bond is established in 
 A. Classical conditioning    B. Gestalt learning 
 C. Trial and Error learning   D. Operant conditioning 

9/ uQmMh<himk<jk!ouXg<Gl<!Gpf<jkbqje!Ofi<ljxbig!kqVk<k!Lbz<uK<!
A.!OuXhMk<Kkz<!Ljx!! ! B.!!!!gVuqsii<!Ng<g!fqjzbqXk<k!LjxgVuqsii<!Ng<g!fqjzbqXk<k!LjxgVuqsii<!Ng<g!fqjzbqXk<k!LjxgVuqsii<!Ng<g!fqjzbqXk<k!Ljx!!!!
C.!-Vk<kz<!.gm<Mh<him<M!Ljx!! D.!lQ{Ml<!gx<xz<!Ljx<!!!!
A child who shows an aversion towards homework is to be corrected positively.Which technique would 
you suggest? 
A. Discrimination method    B. Instrumental conditioning 
C. Deconditioning method   D. Relearning method!

9. gqz<Ohii<ce<!gm<mjlh<H!likqiqbqe<!uqjtUg<!giv{qgt<!we<e@!
A.!sqf<kqk<kz<?!nxqUsii<!osbz<!lx<Xl<!giv{lxqkz<!)giv{l<!uqeUkz<*!
B.!!!!ohiVt<?!osbz<hiMgt<!lx<Xl<!uqjtUohiVt<?!osbz<hiMgt<!lx<Xl<!uqjtUohiVt<?!osbz<hiMgt<!lx<Xl<!uqjtUohiVt<?!osbz<hiMgt<!lx<Xl<!uqjtU!
C.!osbz<fqjzgt<?!osbz<hiMgt<!lx<Xl<!kqm<mLjxgt<!
D.!osbz<hiMgt<?!osbz<fqjzgt<!lx<Xl<!osbz<uqjtU!
What are the determinants of Guilford’s model of intellect? 
A. Thinking, cognition and reasoning  B. Content, operation and product 
C. Operation, process and systems  D. Process, operation and product 

10. uqjtbim<M!sii<fk!uq]Äbr<gtqz<!keqk<kqxjlObiM!uqtr<Gl<!Gpf<jkbqml<<!nkqglig!-Vh<Hkz<!
A.!gVk<kqbz<!)-ml<!sii<fk*!F{<{xqU<! !B.!okimi<!)hcfqjz*!g{qk!F{<{xqU!
C.!!!!dmz<!dmz<!dmz<!dmz<!....!!!!okiM!d{i<!F{<{xqUokiM!d{i<!F{<{xqUokiM!d{i<!F{<{xqUokiM!d{i<!F{<{xqU! !! D.!hqxleqk!F{<{xqU!
A child who performs better in sports and games is dominant with 
A. Spatial intelligence    B. Logical Mathematical intelligence 
C. Bodily Kinesthetic intelligence   D. Interpersonal intelligence 

22/ leouPs<sq!‘gikii<̂ q^<’!we<hK!
A.!!!!leouPs<sq!outqbQMleouPs<sq!outqbQMleouPs<sq!outqbQMleouPs<sq!outqbQM! ! ! !
B.!leouPs<sqbqe<!ohiVt<fqjz!
C.!lx<xui<gtqe<!leouPs<sqjb!Hiqf<Kogit<tz<! !
D.!leouPs<sqjb!fQ{mgizl<!dt<tqVk<kq!juk<kz<<!   
motional catharsis means 
A. free release of emotional energy  B. spontaneous expression of emotions 
C. sharing of other’s emotions   D. storing the emotions for a long time!

23/ ‘wiqg<se<’!nui<gtqe<!Ogim<hiM!outqh<hMk<Kl<!gVk<K!
A.!dth<hGh<hib<U!Ogim<hiM! ! B.!leqkuqbz<!Ogim<hiM!!!!!
C.!nxqUuti<ssqsii<!Ogim<hiM!!! D.!!!!dts<!dts<!dts<!dts<!....!!!!s&g!Ogim<hiM<s&g!Ogim<hiM<s&g!Ogim<hiM<s&g!Ogim<hiM<!!!!
Erickson’s theory explains the concept of 
A. Psychoanalytic theory    B. Humanistic theory 
C. Cognitive development theory   D. Psycho-social development theory!
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13. nxqUsii<!uti<ssqg<!Ogim<hiM!Gpf<jkbqe<!wf<k!h{<Hgjt<Lg<gqbk<Kuh<hMk<KgqxK@!
A.!Lkqi<ssq<! ! ! ! ! B.!ye<Xkz<!
C.!yPg<gl<! ! ! ! ! D.!!!!sLkib!yVjlh<hiM!)s&gs<!sii<Hjl*sLkib!yVjlh<hiM!)s&gs<!sii<Hjl*sLkib!yVjlh<hiM!)s&gs<!sii<Hjl*sLkib!yVjlh<hiM!)s&gs<!sii<Hjl*!!!!
Cognitive development theory emphasizes the characteristics of child’s 
A. Maturation   B. Identity C. Morality  D. Sociability  

14. li{ui<gtqe<!LPjlbie!)fqjxuie*!guek<jkh<!ohx!hqe<uVueux<Xt<!wl<Ljx!ohiVf<Kl<@!
 I/!K~{<MohiVtqe<!nmi<kkq!lx<Xl<!dVuntju!nkqgiqk<kz<<!
II.!lQtosbz<!lx<Xl<!HKjl!osbz<him<cje!uzqBXk<Kkz<<!
A.!%x<X!)I*!lm<Ml<!siqbieK! ! ! B.!%x<Xgt<!)I*!lx<Xl<!)II*!siqbiekz<z!
C.!!!!%x<Xgt<!)%x<Xgt<!)%x<Xgt<!)%x<Xgt<!)I*!lx<Xl<!*!lx<Xl<!*!lx<Xl<!*!lx<Xl<!II*!siqbieju*!siqbieju*!siqbieju*!siqbieju!!!!! D.!%x<X!II*!siqbieK!
For capturing maximum attention of students, which of the following is correct? 
    I. Intensity and size of the stimulus must be increased 
    II. Repetition and novelty should be emphasized 
A. Only statement (I) is correct       B. Statements (I) and (II) are not correct 
C. Both the statements (I) and (II) are correct     D. Statement (II) is correct 

15. hqe<uVux<Xt<!wK!gue!ujgjb!sivikK@!
A.!hpg<gg<!guel<! ! ! ! !
B.!-bx<jgbie!guel<!)osbzqe<xq!gueqk<kz<*!
C.!osbx<jgbie!guel<!)osbOziM!gueqk<kz<*! !!!!!
D.!!!!hr<Ogx<H!guelhr<Ogx<H!guelhr<Ogx<H!guelhr<Ogx<H!guel<!
Which of the following is not a type of attention? 
A. Habitual attention    B. Involuntary attention 
C. Volitional attention       D. Participatory attention 

16. hqe<uVueux<Xt<!wK!Hxk<Okx<X!Ljxbqe<!gQp<!uviK@!
A.!lqeOsim<mi!hz<fqjz!NTjlk<!Oki<U! !!!!B.!Ovii<̂ sig<!jlkms<!Osikje<!
C.!!!!uig<gqbl<!fqjxU!osb<kz<uig<gqbl<!fqjxU!osb<kz<uig<gqbl<!fqjxU!osb<kz<uig<gqbl<!fqjxU!osb<kz<!!!! ! ! !!!!D.!ohiVtxqOuiM!-j{k<kx<!Osikje!
Which of the following is not a projective test? 
A. Minnesota Multiphasic Personality inventory 
B. Rorschach Ink blot test 
C. Sentence completion test 
D. Thematic Apperception test 

28/ li{i<ui<gtqe<!uVjgjb!ntf<kxqb!Nsqiqbi<!hqe<uVueux<Xt<!-l<Ljxjb!jgbitzil<@!
A.!kvUOgiz<! ! B.!LPfqjx!hkqOuM!C.!okiqUOgiz<! D.!!!!uqeih<hcu!Ljuqeih<hcu!Ljuqeih<hcu!Ljuqeih<hcu!Ljxxxx!
To assess the absenteeism of students regularly, a teacher can use 
A. rating scales  B. cumulative record    C. check list D. questionnaire!

18. g{qkk<kqz<!hzuQelie!li{ui<!olipqh<!himk<kqz<!sqxf<K!uqtr<GuK!wu<uqk!fmk<jkjb!
siVl<@!
A.!ye<xqh<Ohikz<!)ye<Xkz<*! ! ! !!!!B.!!!!=Mosb<kz=Mosb<kz=Mosb<kz=Mosb<kz<!!!!!
C.!giv{l<!gx<hqk<kz<! ! ! ! !!!!D.!Hx<Okx<Xkz<!)Hxk<okxqkz<*!
A child who is weak in mathematics, tries to excel in language is using the mechanism of 
A. Identification  B. Compensation     C. Retionalisation D. Projection 

19. li{ui<!keK!osif<kh<!hqvs<sjeBme<!dr<gjt!n[gqeiz<!dr<gtqe<!nch<hjm!osbz<hiM!
wKuig!-Vg<Gl<@!
A.!!!!hqvs<sjebqe<!giv{r<gjt!hGk<kib<kzhqvs<sjebqe<!giv{r<gjt!hGk<kib<kzhqvs<sjebqe<!giv{r<gjt!hGk<kib<kzhqvs<sjebqe<!giv{r<gjt!hGk<kib<kz<!!!!!!
B.!nxqUjv!hgi<hujv!n[gs<!osiz<Zkz<!
C.!hqvs<sje!)sqg<gz<*.J!kieig!Lcg<Gl<!ujv!gik<kqVg<gs<!osb<kz<!!!!!
D.!upqgim<Mkz<!upr<Gkz<!
When a student approaches you with a personal problem, what initial strategy will you provide? 
A. Analyse the causes of the problem     B. Ask to consult a counselor 
C. wait so that the problem can be solved by himself 
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D. Provide guidance 
31/ hqe<uVl<!ohbi<gtqz<!wui<!n[Ghui<!jlb!nxqUjvh<!hgi<kjz!Le<eqXk<kqbui<!

A.!sqg<l{<m<!h<vib<M! ! ! ! !B.!h<vail<!li^<Ozi!!!!!
C.!uqz<zqbl<se<! ! ! ! !! D.!!!!gii<z<!Ovigi<̂ <gii<z<!Ovigi<̂ <gii<z<!Ovigi<̂ <gii<z<!Ovigi<̂ <!!!!!
Who put forward the client centred counseling? 
A. Sigmund Freud      B. Abraham Maslow 
C. Williamson     D. Carl Rogers!

32/ gz<uq!njmju!Oll<hMk<Kl<!osbz<him<cje!hqe<uVueux<Xt<!wf<k!Ljxbqe<!gQp<!
ujgh<hMk<kzil<@!
A.!ngOfig<G!Ljx! ! ! ! B.!!!!keqbit<!hGh<hib<U!Ljxkeqbit<!hGh<hib<U!Ljxkeqbit<!hGh<hib<U!Ljxkeqbit<!hGh<hib<U!Ljx!
C.!Osikje!Ljx! ! ! ! D.!dx<XOfig<gz<!Ljx!
Which of the following methods will you use to study the effectiveness of activity method in imporving 
academic performance? 
A. Introspection method    B. Case study method 
C. Experimental method    D. Observation method!

33/ ‘gz<uqbqz<!dtuqbz<’!fmk<jkjb!nxquqbz<!H,i<ulig!uqtg<GuK!
A.!njeujvh<!hx<xqBl<!! ! ! B.!!!!gx<hqh<Ohii<!lx<Xl<!gx<Ohii<gx<hqh<Ohii<!lx<Xl<!gx<Ohii<gx<hqh<Ohii<!lx<Xl<!gx<Ohii<gx<hqh<Ohii<!lx<Xl<!gx<Ohii<!
C.!leqk!lx<Xl<!lqVg! ! ! ! D.!gx<Ohii<!lm<Ml<!
Educational psychology explains the scientific study of the behaviour of 
 A. all individuals     B. teacher and learners     
C. both human and animals   D. learners only!

23. keqbit<!leqk!dxULjxgt<!hx<xqb!dtuqbz<!hqiqU!
A.!nxqUsii<!dtuqbz<!! ! ! B.!okipqz<sii<!dtuqbz<!
C.!lVk<Ku!dtuqbz<!! ! ! D.!!!!s&g!dtuqbz<s&g!dtuqbz<s&g!dtuqbz<s&g!dtuqbz<!!!!
The branch of psychology that deals with interrelationships among individuals is  known as 
A. Cognitive psychology    B. Industrial psychology 
C. Clinical psychology     D. Social psychology     

24. okiGk<kxqkz<!Ljxbqe<!nch<hjm!uti<ssqg<!Ogim<hiM<!
A.!dt<!ym<MxU!uqkq! ! ! ! B.!ohiVk<k!uqkq!!!!!
C.!SVt<!uqkq! ! ! ! ! D.!!!!ohiKuiejubqzqVf<K!sqxh<hieju!uqkqohiKuiejubqzqVf<K!sqxh<hieju!uqkqohiKuiejubqzqVf<K!sqxh<hieju!uqkqohiKuiejubqzqVf<K!sqxh<hieju!uqkq!
What is the basic principle of development applied in the inductive approach? 
A. Principle of interrelation   B. Principle of proximo-distal 
C. Principle of spirality    D. Principle of general to specific 

25. nxqUsii<!uti<ssqh<!hcfqjzgtqz<!GxqbQmM!sle<hiMgjt!Hiqf<K!ogit<Tl<!fqjz<<!
A.!Hzeqbg<g!fqjz! ! ! ! B.!osbz<fqjz!)HzeQmie!osbz<!fqjz*!
C.!Lx<osbz<!fqjz! ! ! ! D.!!!!LPs<osbz<LPs<osbz<LPs<osbz<LPs<osbz<!!!!fqjzfqjzfqjzfqjz!
Which stage of cognitive development is suitable to teach the symbolic representation of quations in 
science? 
A. Sensori-motor stage   B. Concrete – operational stage 
C. Pre-operational stage   D. Formal-operational stage 

26. hii<ju!upqg<!gx<Gl<!li{ujv!fQuqi<!sf<kqg<g!Ofi<fkiz<?!hqe<uVueux<Xt<<!wg<gx<xz<!Ljxjb!
ui<gTg<G!okiqU!osb<ui@Q<!
A.!lQtosiz<!Ljx!)lQmosiz<!Ljx*<<!! B.!!!!gVk<K!ujvhmr<gt<gVk<K!ujvhmr<gt<gVk<K!ujvhmr<gt<gVk<K!ujvhmr<gt<!!!!
C.!okimi<HLjx!F[g<gl<! ! ! D.!uqjtbim<M!F[g<gl<!
When you are confronted with a visual learner, which learning method wouldyou suggest? 
A. Recitation method   B. Concept mapping 
C. Association technique   D. Gaming technique 

27. -V!Gpf<jkgt<!kr<gtK!ohx<Oxijv!hx<xqb!GjxhiMgjt!hx<xq!Ohsqg<ogit<Tkz<!wu<ujgjb!
sii<fkK@<!
!! ! !I/!ohx<Oxii<!Hxl<kt<Tkz<!
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!! !!!! !II/!lqgg<Gjxf<k!GMl<h!NkvU!
!! ! !III/!keqjlh<hm<m!ohx<Oxii<!
!! ! !IV/!ohx<Oxiiqe<!nkqgh<!hiKgih<H!!-ux<Xt<;!
A.!njek<Kl<!siqbieju! ! ! B.!!!!))))I*!)*!)*!)*!)III*!*!*!*!lx<Xl<!)lx<Xl<!)lx<Xl<!)lx<Xl<!)IV*!siqbieju*!siqbieju*!siqbieju*!siqbieju!!!!!
C.!)I*!)II)!lx<Xl<!)III*!siqbieju!! ! D.!wjuBl<!siqbiejubz<z!
In one of the informal discussions in the classroom, two children are identified who are complaining 
about their parental conflicts. The problem associated with the children is   
I. Parental rejection     
II. Poor family support      
III. Isolated Parents      
IV. Parental overprotection 
Among these statements 
A. All are correct    B. (I), (III) and (IV) are correct 
C. (I), (II) and (III) are correct  D. None of them is correct 

28. leouPs<sq!F{<{xqUme<!okimi<Ht<t!Lg<gqb!ohbi<!
A.!G.W/!Nz<Ohii<m<! ! ! ! B.!Omeqbz<!Ogiz<ole<!!!!!
C.!oauii<M!gii<mei<<! ! ! ! D.!!!!JP/!/!/!/!gqz<Ohii<Mgqz<Ohii<Mgqz<Ohii<Mgqz<Ohii<M!
The chief exponent of emotional intelligence is 
 A. G.W. Allport    B. Daniel Goleman 
 C. Howard Gardner   D. J.P. Guilford 

29. OuXhiMgt<!nkqgLt<t!uGh<hjxbqeqz<!Nsqiqbi<!
A.!yOv!Ljxbie!gx<hqk<kjz!Olx<ogit<tOu{<Ml<!
B.!Gpf<jkgt<!nui<gtqe<!uqVh<hh<hc!gx<g!nElkqg<gh<hm!Ou{<Ml</!
C.!!!!sikiv{g<!Gpf<jkgtqe<!Okjugjt!Lg<gqbh<hMk<kq?!svisiqbiOeiVg<G!gx<hqk<kz<sikiv{g<!Gpf<jkgtqe<!Okjugjt!Lg<gqbh<hMk<kq?!svisiqbiOeiVg<G!gx<hqk<kz<sikiv{g<!Gpf<jkgtqe<!Okjugjt!Lg<gqbh<hMk<kq?!svisiqbiOeiVg<G!gx<hqk<kz<sikiv{g<!Gpf<jkgtqe<!Okjugjt!Lg<gqbh<hMk<kq?!svisiqbiOeiVg<G!gx<hqk<kz<!!!!
D.!keqbit<!gx<hqk<kz<!Ljxgjt!hbe<hMk<Kkz<!
In a diversified classroom, the teacher should 
A. use a single mode of teaching 
B. permit the students to learn according to their willingness 
C. highlight the needs of normal children and teach at the average level 
D. use individualized learning strategies 

30. gx<xz<!ujtOgiM!-kje!outqg<gim<MgqxK!
A.!!!!gx<xz<!osbz<hiMgtqe<!uqzg<gk<jkg<!Gxqg<gqe<xKgx<xz<!osbz<hiMgtqe<!uqzg<gk<jkg<!Gxqg<gqe<xKgx<xz<!osbz<hiMgtqe<!uqzg<gk<jkg<!Gxqg<gqe<xKgx<xz<!osbz<hiMgtqe<!uqzg<gk<jkg<!Gxqg<gqe<xK!!!!
B.!gx<xz<!Ljxbqje!Gxqg<gqxK!
C.!gx<Ohiiqe<!uti<fqjzjbg<!Gxqg<gqxK/!
D.!GxqbQmM!hmg<gx<xz<!giv{qjb!Gxqg<gqxK<!
Learning curve depicts 
A. Curve showing the deviations of learning process 
B. Diagram representing the mode of learning of a group 
C. Graph representing the learner’s progression with time 
D. Symbolic map of factors of learning  

gFjp gFjp gFjp gFjp –    II 
  jkpo;jkpo;jkpo;jkpo; 

42/  siqbieux<jxk<!Oki<U!osb<g;!
A.gie<.!gvc!!!!!!dPju.!sqr<gl<!!!!!!!lmr<gz<.!Hzq!!!!!!!w{<G.!giM!
B.gie<gie<gie<gie<....!!!!giM!!!!!!dPjugiM!!!!!!dPjugiM!!!!!!dPjugiM!!!!!!dPju....!!!!Hzq!!!!!!!!!lmr<gz<Hzq!!!!!!!!!lmr<gz<Hzq!!!!!!!!!lmr<gz<Hzq!!!!!!!!!lmr<gz<....!!!!sqr<gl<!!!!!!w{<Gsqr<gl<!!!!!!w{<Gsqr<gl<!!!!!!w{<Gsqr<gl<!!!!!!w{<G....!!!!gvcgvcgvcgvc!!!!
C.gie<.!giM!!!!!dPju.!sqr<gl<!!!!!!!lmr<gz<.!gvc!!!!!!!w{<G.!Hzq!
D.gie<.!giM!!!!!!dPju.!Hzq!!!!!!!!!lmr<gz<.!gvc!!!!!!!w{<G.!sqr<gl<!

43/ ‘-f<kqbi’!we<El<!-kp<!
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A.!kqesiq!-kp<!! !!!!B.!!!!uiv!-kp<uiv!-kp<uiv!-kp<uiv!-kp<!!!C.!kqr<gt<!-VLjx! D.!kqr<gt<!-kp<!
44/ ‘Ogim<Mgqi<!GVjt’!we<xjpg<gh<hMuK!

A.!sqr<gg<Gm<c! ! B.!!!!Hzqg<Gm<cHzqg<Gm<cHzqg<Gm<cHzqg<Gm<c!! C.!gvcg<Gm<c!D.!Gvr<Gg<Gm<c!
45/ gtqx<xqbije!fqjvbqZt<t!himz<!w{<{qg<jg!

A.!211! ! ! B.!221!! ! C.!!!!231231231231!!!!! D.!291!
46/ siqbie!juh<H!Ljxjbk<!Oki<U!osb<g;!

A./GxqR<sq/GxqR<sq/GxqR<sq/GxqR<sq....!!!!3?!9!!!!Lz<jz3?!9!!!!Lz<jz3?!9!!!!Lz<jz3?!9!!!!Lz<jz....!!!!5?!25!!!!lVkl<5?!25!!!!lVkl<5?!25!!!!lVkl<5?!25!!!!lVkl<....!!!!7?!27!!!!!ofb<kz<7?!27!!!!!ofb<kz<7?!27!!!!!ofb<kz<7?!27!!!!!ofb<kz<....!!!!21?!3121?!3121?!3121?!31!!!!
B.!GxqR<sq.!21?!31!!Lz<jz.!7?!27!!!!lVkl<.!5?!25!!!!!ofb<kz<.!3?!9!
C.!GxqR<sq.!3?!9!!!Lz<jz.!7?!27!!!!lVkl<.!21?!31!!!!ofb<kz<.!5?!25!
D.!GxqR<sq.!3?!9!!!Lz<jz.!21?!31!!!!lVkl<.!5?!25!!!!ofb<kz<.!7?!27!

47474747//// ‘lELjx!g{<m!uisgl<’!we<x!F~zqe<!Nsqiqbi<!

A.!GlvGVhvi! ! <B.!l{quisgi<!!!!C.!squRie!Lequi<! D.!!!!ut<tzii<ut<tzii<ut<tzii<ut<tzii<!!!!
48/ gq/hq/!3121.J!kqVut<Tuvi{<M!______!we<X!%XOuil</!

A.!3122! ! ! B.!3132! ! C.!!!!3152315231523152!!!! ! D.!3144!
49/ ‘Ovisi<̂ <!-viliE\e<’!we<x!F~jz!outqbqm<mui<!

A.!!!!aii<caii<caii<caii<c!! ! B.!zqm<cz<Um!! <C.!=/ws</!ofuqz</!D.!\iOgihq!
4:/ NX!we<hke<!kpqop{<!

A.!!!!sssshhhh! ! ! B.%! ! ! C.s! ! ! D.d!
51/ ‘$mil{q!fqg{<M’!-ke<!Nsqiqbi<!

A.!kquigvi! ! <<<<B.!!!!l{<mzHVl{<mzHVl{<mzHVl{<mzHVmimimimi<!! C.!uQvliLequi<!! D.!C.Ou/si!
52/ ‘gq{<{v!lqKer<gt<’!we!njpg<gh<hMhju!

A.!hpr<gt<! ! B.!uqzr<Ggt<! C.!!!!hxjugthxjugthxjugthxjugt<!       D. ,uhrpfs!
53/ ‘Oukuqk<K’!we<xjpg<gh<hMuK!

A.!kqVuisglkqVuisgl<!B.!Okuivl<!! C.!kqVljx! ! D.!!!!kqVh<hijukqVh<hijukqVh<hijukqVh<hiju!
54/ ‘Ksr<gm<Mkz<’!we<El<!osiz<!

A.!kGkq!upg<G!! B.!!!!um<mium<mium<mium<miv!upg<Gv!upg<Gv!upg<Gv!upg<G/!!C.!lr<gz!upg<G! D.!G+dg<!Gxq!
55555555//// siqbie!uqjmjbk<!Oki<U!osb<g;!

A.sf<kqvikqk<kl<.!Lk<Kg<Gjm!!!sgzihisel<.!l{qg<Gjm!!!fqk<kuqOfikl<.!ohix<Gjm!!!
B.sf<kqvikqk<kl<.!l{qg<Gjm!!!!!sgzihisel<.!Lk<Kg<Gjm!!fqk<kuqOfikl<.!ohix<Gjm!!
C.sf<kqvikqk<kl<.!ohix<Gjm!!!!!sgzihisel<.!l{qg<Gjm!!!fqk<kuqOfikl<.!Lk<Kg<Gjm!!!!
D.sf<kqvikqk<kl<sf<kqvikqk<kl<sf<kqvikqk<kl<sf<kqvikqk<kl<....!!!!Lk<Kg<Gjm!!!!sgzihisel<Lk<Kg<Gjm!!!!sgzihisel<Lk<Kg<Gjm!!!!sgzihisel<Lk<Kg<Gjm!!!!sgzihisel<....!!!!ohix<Gjm!!!!fqk<kuqOfikl<ohix<Gjm!!!!fqk<kuqOfikl<ohix<Gjm!!!!fqk<kuqOfikl<ohix<Gjm!!!!fqk<kuqOfikl<....!!!!l{qg<Gjml{qg<Gjml{qg<Gjml{qg<Gjm!!!!

56/ ‘gm<gOfk<iq’!we<hke<!keqk<klqp<s<!osiz<jz!wPKg;!
A.!nr<gbx<g{<{q! ! ! ! B.!!!!uit<ofMr<g{<{quit<ofMr<g{<{quit<ofMr<g{<{quit<ofMr<g{<{q!!!!!
C.!fQtofMr<g{<{q<! ! ! ! D.!hr<gbg<!g{<{q!

57/ gQpggKuib<!Olije!hbqe<X!uVl<!sQigt<<<<!
A.!3?!4?!5!! ! B.!2?!4?!5! ! C.!!!!2?!3?!52?!3?!52?!3?!52?!3?!5! ! D.!3?!5!

58/ siqbie!uqjmjbk<!okiqU!osb<g;!
A./lKjv!gi{<ml</lKjv!gi{<ml</lKjv!gi{<ml</lKjv!gi{<ml<....!!!!29!!%mz<!gi{<ml<29!!%mz<!gi{<ml<29!!%mz<!gi{<ml<29!!%mz<!gi{<ml<....!!!!41!kqVuizuib<ggi{<ml<!41!kqVuizuib<ggi{<ml<!41!kqVuizuib<ggi{<ml<!41!kqVuizuib<ggi{<ml<!....!!!!27<27<27<27<!!!!
B.lKjv!gi{<ml<.!27!!%mz<!gi{<ml<.!41!!kqVuizuib<ggi{<ml<!.!29<!
C.lKjv!gi{<ml<.!41!!%mz<!gi{<ml<.!27!kqVuizuib<ggi{<ml<!.!29<!
D.lKjv!gi{<ml<.!3:!!!%mz<!gi{<ml<.!27!kqVuizuib<ggi{<ml<!.!29<!

59/ ‘-Vjg!Bjmg<gtq!xe<eue<’!.!-kqz<!hbqe<X!uVl<!n{q!

A.!fqvz<!fqjvb{q! ! ! B.!!!!-z<ohiVt<!dujlb{q-z<ohiVt<!dujlb{q-z<ohiVt<!dujlb{q-z<ohiVt<!dujlb{q!!!!
C.!hqxqKolipqkz{q! ! ! D.!Oux<Xjlb{q!

5:/ ‘yVjlk<!Okix<xk<K!JOuX!ueh<hqe<!
!-zr<G!gkqi<!uq_dl<!fzr<ogP!l{qgTl<!…/”!okimi<Hjmbk<!Kjx!!!!!
A.!l{<{qbzqbz<!! B.!ohixqbqbz<! ! C.!!!!geqluqbzgeqluqbzgeqluqbzgeqluqbz<! D.!n[uqbz</!

61616161//// ‘dzgk<!klqp<h<!h{<him<M!-bg<gl<’!Okie<xg<!giv{lieui<!
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A.!mig<mi<!L/u! ! ! ! ! B.!n/s/!Riesl<hf<ke!!!
C.!mig<mi<!ok/ohi/lQ! ! ! ! D.!!!!sijz!-tf<kqsijz!-tf<kqsijz!-tf<kqsijz!-tf<kqjvbeqjvbe</jvbeqjvbe</jvbeqjvbe</jvbeqjvbe</!!!!

 
51. clk;gLnka; vd;gd 

A. y;> s;>   B. l;> z;   C.    a;> ta;> ta;> ta;> t;   D. g;> w; 

63/ siqbie!uqjmjbk<!Oki<U!osb<g;!
!
!! !! GxqR<sq.!! Lz<jz.! lVkl<!! .hijz!
A./!/!/!/!!!!! !!!!sqXGcsqXGcsqXGcsqXGc!!!! OsiqOsiqOsiqOsiq!!!! !!!! Oh'i<Oh'i<Oh'i<Oh'i<!!!! !!!! GXl<HGXl<HGXl<HGXl<H!!!!
B..!! Osiq! ! Oh'i<!!! sqXGc!! GXl<H!!
C.!! Oh'i<! ! GXl<H!! Osiq!! ! sqXGc!!
D.!! GXl<H!! sqXGc!! Oh'i<!!! Osiq!

64/ ‘ogze<!ogz<zi<’!hck<k!ht<tqbqe<!ohbi<!

A.!aih<gqe<̂ <!ht<tq! ! ! B.!^<mih<gqe<̂ <!ht<tq!
C.!!!!ohi<gqe<̂ <!ht<tqohi<gqe<̂ <!ht<tqohi<gqe<̂ <!ht<tqohi<gqe<̂ <!ht<tq! ! ! D.!^<_ui<m^<!ht<tq<!

65/ gf<kVul<?!gf<Kgl<?!Ogi{l<?!Gf<kl<!.!-ju!-f<k!uqzr<jgs<!Sm<Ml<!
A.!bije!! ! B.!!!!GkqjvGkqjvGkqjvGkqjv! ! C.!liM! ! D.!lie<!

66/ ‘LMG’!we<El<!yjs!fbl<!ogi{<M!himz<!-bx<x!uz<zui<!

A.!hivkqbii<! ! B.!hihfisl<!sque<!!!C.!Sk<kief<k!hivkq!D.!!!!hivkqkisehivkqkisehivkqkisehivkqkise<!
67/ jlg<Ogz<!WR<sOzi!we<hui<!sqxf<k!

A.!guqRi<!! ! B.!himgi<! ! C.!!!!sqx<hq/sqx<hq/sqx<hq/sqx<hq/! ! D.!fcgi<!
68/ olb<g{<mie<!Hk<kgs<!sijz!-uVme<!okimi<HjmbK!

A.!!!!gilvisi<gilvisi<gilvisi<gilvisi<!!!! ! B.!sk<kq&i<kkq! <C.!u/C.sq! ! D.!gg<ge<!
69/ ```````!we<Elqmk<kqz<!fjmohx<x!nxh<Ohiiqz<!kqz<jzbic!ut<tqbl<jl!jgkieii<!

A.!O\ige<̂ hi<g!!!!!!B.!!!!uiz<g^v^<muiz<g^v^<muiz<g^v^<muiz<g^v^<m<<<<!!!!C.!Hmioh^<m<! D.!wce<!hii<g<!
6:/ fqe<x!sQiqe<!=x<xjsBl<?!uVl<!sQiqe<!LkzjsBl<!````````!weh<hMl<!

A.!wKjg!! ! B.!-jbH! ! C.!Olije! ! D.!!!!kjt/kjt/kjt/kjt/!
60. ‘dl<hvii<!hkq’!we!njpg<gh<hMhui<!

A.!!!!-f<kqve<-f<kqve<-f<kqve<-f<kqve<! ! <B.!sf<kqve<! ! C.!$iqbe<! ! D.!fivkv< 

 

Question Booklet series code : C 

PART - III 
Mq;fpyk; Mq;fpyk; Mq;fpyk; Mq;fpyk; ---- ENGLISH 

61. !The aim of teaching poetry is 
A. to help pupils to write poems   B. to help pupils to enjoy reading the poems 
C. to help pupils only to learn poems by heart D. to write the poems in their notebooks 

62. The teacher of English uses ‘pair – work’ in the classroom to 
A. improve pupils knowledge   B. improve the teacher’s teaching 
C. improve pupils communication skills  D. improve the teacher’s English 

63. Which is not a quality of ‘good handwriting’? 
A. Legibility B. Distinctiveness  C. Spacing  
D. Absence of uniformity in the size of the letters 

64. Reading a passage from the Supplementary Reader for enjoyment and expansion of information is 
called 
A. Silent Reading  B. Intensive Reading C. Extensive Reading D. Self Reading 

65. Identify the correct characteristic: 
If a test measures what  it intends to measure, then it is one of the characteristics of a good  
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test is 
A. Practicability                B. Reliability C. Scorability             D. Validity 

66. Remedial teaching involves 
A. teaching and testing    B. testing continuously 
C. teaching, testing and reteaching  D. teaching, difficult topics 
 

67. Identify the correct Passive  voice for the given sentence 
People  believe he has cheated the government 
A.He has cheated the government is believed by people  
B. He has cheated the government is believed 
C. It is believed that he has cheated the government 
D. It is believed that  he has cheated the government 
 

68. Identify the adjective form of the word ‘honour’ 
A. honourable                 B. honest  C. honesty                    D. honorarium 

69. Arrange the following sentence jumbled words in the right order to from a 
meaningful sentence 
That / remember / always / become / can / you / thinking / by / big / big 
A. Remember always that by thinking you can become big 
B. By thinking big you become big that can remember always 
C. Always remember that you can become big by thinking big 
D. Always become big by thinking big that you can remember 
 

70. Identify the correct comparative form of the given sentence 
A. Chennai is large than  most other  cities in India 
B. Chennai is larger than most  other cities  in India 
C. Chennai is not larger  than  most other  cities in India d 
 D. Chennai is as large as most other  cities in India 
 

71. Identify the correct compound word that contains ‘Verb + Noun’ 
A. popcorn           B. overthrow       C. safeguard         D. lifelong 

 

72. The figure  of speech  that attributes life to inanimate objects or abstract qualities is 
A. Metaphor                 B. Personification C. smile                            D. alliteration 
 

73. Choose  the correct sentence pattern of the given sentence 
Reading made  him a complete man 
A. S + V + O + C                                           B. S + V + IO + DO 
C. S + V + A                                                   D. S + V + O 
 
 

74.  Identify the simple  sentence for the given compound sentencI broke my ankle in a football  
match  and had to go to hospital 
A. I had to go to hospital, because I broke my ankle in a football  match  
B. I broke my ankle in a football  match,  so I had to go to hospital 
C. I had to go to hospital, so I broke my ankle in a football  match 
D. Having broken my ankle in a football match, I had  to go to hospital 
 

75. Identify the correct ‘anagram’ 
A. meet – meat                                               B. knew  – no 
C. melon – lemon                                   D. pun  – fun 

76. Identify the correct alphabetical order of the words in the box 
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Recession, receipt, recipient, recital, recapture 
A. receipt, recital, recession, recapture, recipient 
B. recipient, recession, recital, recapture, receipt 
C. recital, recapture, recession, receipt 
D. recapture, receipt, recession, recital 
 

(Q. Nos. 77 to 80) 
Read the passage with blanks numbereD. For each numbered four options are 
given after the passage. Identify the word to fill in each blank. 
The young and the upwardly mobile generation of today has ( 77 ) 
aspirations ( 78 ) little patience. If the youngsters want a smartphone or an 
ipad, they usually don’t think much before spending (79) such gadgets. 
Sometimes such spending involves taking a personal loan or using the 
credit card and repaying (80) debt over the next few months or even a year 

77. A. low   B. one  C. high  D. no 
78. A. and   B. but  C. or   D. of 
79. A. of   B. in  C. at   D. on 
80. A. the   B. an  C. a   D. some 

 
81. How  many  sentences can be combined correctly without changing the meaning? 

Raman  has to complete his homework. He can’t go out 
The correct combination of sentence is 
A. If Raman has to complete his homework, he can’t go out 
B. Raman  has completed his homework until  after he can’t go out  
C. Until after Raman  has completed his homework, he can’t go out  
D. Until Raman  has completed his homework after, he can’t go out 
 

82.  Identify the correct word to fill in the given blank 
If I                       rich, I would help the poor 
A. am             B. were                  C. is              D. was 

 
83. Identify the reported form of the given sentence 

My friend  said, “You must  accept this gift” 
A. my friend  asked  that I must  accept that gift 
B. My friend  said that you must  accept that gift 
C. My friend  requested that I must  accept this gift 
D. My friend insisted that  I must accept  that  gift 

84. A personal letter could contain 
A. three paragraph only   B. two paragraphs only 
C. any number of paragraphs  D. one paragraph only 

       
85. Identify the sentence that is grammatically correct 

A. He invited us to spend a few days with him 
B. He invited us to stay a few days with him 
C. He invited us a few days to stay with him 
D. He invited us a few days to spend with him 

86. Choose  the correct a word to fill in the given blank 
Either Nila or Mala                 present today 
A. is               B. are            C. were                    D. was 

87.  Identify the correct phonemic transcription for ‘germinate’ 
A. /’dzemInIet /          B. / ‘dze:mIneIt / 
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C. / ‘germIneIt /          D. / ‘jermIneIt / 
 

88. The words ‘need’, ‘dare’ and ‘use to’ are  
A. auxiliaries                          B. models 
C. marginal modals               D. modal auxiliaries 

 
 

89. What does the following sentence mean? 
Gandhiji loved  to be up with the lark 
A. Gandhiji woke up early  in the morning 
B. Gandhiji was punctual 
C.  Gandhiji went  to bed early at night 
D. Gandhiji did not wake  up early in the morning 
 

90. Choose  the right  question tag 
We put some money in the blank  last week  ____________   ? 
A. aren’t we          B. don’t we           C. didn’t we                    D. do we 

 

Question Paper Series Code: C 

PART - IV 

SECTION - B 

SOCIAL SCIENCE 

91. The floating micro organisms in are normally called as-------------- 

A. benthose  B. corel leaf  C. plankton  D. necton 
fly; kpjf;ff;$ba kpf Ez;zpa caphpdq;fis ______ vd;fpNwhk;. 
A. nge;jh];   B. KUiffs;  C.    gpshq;ldgpshq;ldgpshq;ldgpshq;ld;  D. nef;lhd 

92. The city developed with temple as its centre is  
A. Chennai   B. Thanjavur  C. Vellore   D. Madurai 
Nfhapiy ikakhf nfhz;L tsh;r;rpaile;j efuk; 
A.nrd;id   B.    jQ;rhT+hjQ;rhT+hjQ;rhT+hjQ;rhT+h;   C. NtY}h;   D. kJiu 

93. The most important need for every industry is 
A.fuel    B. transport   C. capital   D. labour 
njhopyfq;fis ,af;Fk; caph;ehb vdg;gLtJ 
A. vhprf;jp   B. Nghf;Ftuj;J  C.    %yjdk%yjdk%yjdk%yjdk;   D. gzpahl;fs; 

94. Which type of structure describes Weber theory of industrial location? 
A. circle    B. square   C. triangle   D. rectangle 
ntghpd; njhopyf miktpl Nfhl;ghL ve;j mikg;ig mbg;gilahff; nfhz;L 
tpsf;fg;gl;Ls;sJ? 
A.tl;lk;    B. rJuk;   C.    Kf;NfhzkKf;NfhzkKf;NfhzkKf;Nfhzk;  D. nrt;tfk; 

95. The trade occurs within the limits of a country is called 
A. internal trade   B. rural trade  C.international trade  D. local trade 
xU ehl;bd; vy;iyf;Fs; epfo;fpd;w tzpfk; 
A.    cs;ehl;L tzpfkcs;ehl;L tzpfkcs;ehl;L tzpfkcs;ehl;L tzpfk;  B. Cuf tzpfk; C.gd;dhl;L tzpfk; D. jy tzpfk; 

96. The pioneer to form Indian National flag was 
A. Gandhiji      B. Jawaharlal Nehru    
C.Thillaiaadi Valliammai     D. Dr. Muthulakshmi Reddy 
,e;jpa Njrpaf; nfhbia cUthf;Ftjw;F Kd;Ndhbahfj; jpfo;e;jth; 
A.fhe;jpabfs;      B. [t`h;yhy; NeU  
C.jpy;iyahb ts;spak;ikjpy;iyahb ts;spak;ikjpy;iyahb ts;spak;ikjpy;iyahb ts;spak;ik    D. Dr. Kj;Jnyl;Rkp nul;b 
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97. The great social reformer from Kerala is 
A.Sree Narayana Guru  B. Vivekananda C.Dayanand Saraswati D. Ramalinga Adigal 
Nfusj;jpy; Gfo;ngw;w r%f rPh;jpUj;jthjp 
A.    =ehuhaz FU=ehuhaz FU=ehuhaz FU=ehuhaz FU  B. tpNtfhde;jh; C.jahde;j ru];tjp D. ,uhkypq;f mbfs; 

98. Lotus symbolizes 
A. smell    B. beauty   C. unity   D. colour 
jhkiu vij cUtfg;gLj;JfpwJ? 
A.kzj;ij   B. moif   C.    xxxxw;Wikw;Wikw;Wikw;Wik   D. epwj;ij 

99. A permanent standing army was organized by 
A.Nasiruddin Khusrao Sha    B. Jalaluddin Khilji 
C.Jalaluddin Firoz Khilji     D. Alauddin Khilji 
epue;jukhd xU ngUk; gilia cUthf;fpath; 
A.e]ph;-cj;jpd;-F];U~h     B. [yhYjPd; fpy;[p 
C.[yhYjPd;-ngNuh]; fpy;[p    D.    myhTjPd; fpy;[pmyhTjPd; fpy;[pmyhTjPd; fpy;[pmyhTjPd; fpy;[p 

100. A 1500 year old unrusted iron pillar is located in 
A. Mehrauli   B. Assam   C. Kalinga   D. Nepal 
1500 Mz;Lfsha; JUg;gpbf;fhky; ,Uf;Fk; ,Uk;Gj;J}z; cs;s ,lk; 
A.    nkfuypnkfuypnkfuypnkfuyp   B. m];]hk;   C. fypq;fk;   D. Neghsk; 

101. Ellora was occupied by (during A. D. 742) 
A. Dhruva    B. Badami  C.Dantidurga   D. Kirtivarman – II 
vy;Nyhuhitf; ifg;gw;wpath; (fp.gp. 742y;) 
A. JUtd;   B. gjhkp   C.    je;jpJh;fhje;jpJh;fhje;jpJh;fhje;jpJh;fh  D. ,uz;lhk; fPh;j;jpth;kd; 

102. The greatest Telugu poet was 
A. Kalidasa   B. Ramabhadra C.Bhaskara   D. Alurikuppanna 
rpwe;j njYq;F ftpQuhf tpsq;fpath; 
A. fhspjhrh;   B. uhkgj;uh;   C. gh];fuh;   D.    m@hpf;Fg;gdhm@hpf;Fg;gdhm@hpf;Fg;gdhm@hpf;Fg;gdh 

103. The empire developed into an independent kingdom under Alivardi Khan was 
A. Karnataka   B. Bengal  C.Hyderabad   D. Pondicherry 
mypth;jpfhd; rje;jpug; Nguurhf cUthf;fpaJ 
A.    fh;ehlfkfh;ehlfkfh;ehlfkfh;ehlfk;   B. tq;fhsk;   C. i`juhghj;  D. ghz;br;Nrhp 

104. The religion which reached the zenith after the 6th Century is 
A. Jainism    B. Buddhism   C. Hinduism   D. Sikhism 
fp.K. 6Mk; E}w;whz;bf;Fg; gpd; nry;thfF; ngww; kjk ; 
A. rkz kjk;   B.    Gj;j kjkGj;j kjkGj;j kjkGj;j kjk;  C.Ntj tjpf tUzhrpukkjk; D. rPf;fpa kjk; 

105.  Ashoka’s messages inscribed on the rocks are written in 
A. Kharoshthi   B. Prakrit   C. Greek   D. Sanskrit 
mNrhfh; mwpTiu nghwpf;fg;gl;l ngUk;ghyhd fy;ntl;Lfspy; vOjg;gl;l nkhop 
A. fNuh];jp   B.    gpuhfpUjkgpuhfpUjkgpuhfpUjkgpuhfpUjk;;;;  C. fpNuf;fk;   D. rk];fpUjk; 

106. ASEAN was established in 
A. 1947    B. 1957   C. 1967   D. 1977 
njd;fpof;fhrpa $l;likg;G Njhw;Wtpf;fg;gl;l Mz;L 
a. 1947    B. 1957   C. 1967   D. 1977 

107. The world communication revolution is considered as the 
A. first wave   B. second wave C. third wave   D. fourth wave 
njhlh;G Gul;rpahdJ cyfpy; epfo;e;j Gul;rpfspy; ,t;thwhf miof;fg;gLfpwJ? 
A. Kjy; miy   B. ,uz;lhk; miy C.    %d;whk;; miy%d;whk;; miy%d;whk;; miy%d;whk;; miy D. ehd;fhk;; miy 

108. The world’s first satellite was launched in 
A. 1947    B. 1937   C. 1957   D. 1967 
cyfpd; Kjy; nraw;if Nfhs; ________ y; Vtg;gl;lJ 
A.1947    B. 1937   C. 1957   D. 1967 

109. The source of energy to the world is 
A. sun    B. land   C. water   D. wind 
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cyfpd; Mw;wy; tsk; 
A.    #hpad;#hpad;#hpad;#hpad;   B. epyk;   C. ePh;   D. fhw;W 

110. Air Survey Company located in 
A. Delhi    B. Kolkata   C. Chennai   D. Hyderabad 
thdha;T rq;fk; mike;Js;s gFjp 
A.nly;yp    B.    nfhy;fj;jhnfhy;fj;jhnfhy;fj;jhnfhy;fj;jh  C. nrd;id  D. i`juhghj; 

111. The scholars adorned the court of Krishnadevaraya were 
A. Ashtadiggajas   B. Navaratnas  C. Paramarthas  D. Alwars 
fpU\;z Njtuhah; mitapy; ,Ue;j mwpQh;fs; 
A.mmmm\\\\;ljpf;f[q;fs;ljpf;f[q;fs;ljpf;f[q;fs;ljpf;f[q;fs;  B. etuj;jpdq;fs; C.gukhh;j;jh;fs;  D. Mo;thh;fs; 

112. The sailor who came up to the southern most tip of Africa was 
A.Vasco da Gama  B. Henry the Navigator C.Columbus   D. Bartholomeu Diaz 
Kjd;Kjypy; Mg;hpf;fhtpy; njd;Nfhb Kidia te;jile;jth;? 
A.th];Nfhlfkhfh  B. khYkp n`d;wp C.nfhyk;g];  D.    ghh;j;jNyhkpNahla];ghh;j;jNyhkpNahla];ghh;j;jNyhkpNahla];ghh;j;jNyhkpNahla]; 

113. The Kailasanatha temple built by Krishna I was at 
A.Ajanta    B. Bombay   C. Gujarat   D. Ellora 
Kjyhk; fpU~;zd; ifyhr ehjh; Nfhapiy fl;b ,lk; 
A. m[e;jh   B. gk;gha;   C. F[uhj;   D.    vy;Nyhuhvy;Nyhuhvy;Nyhuhvy;Nyhuh 

114. The ‘Zabti’ system was introduced by 
A. Akbar    B. Sher Shah   C. Aurangzeb   D. Vasir 

[g;jp’ Kiwia mwpKfg;gLj;jpath; 
A.    mf;gh;mf;gh;mf;gh;mf;gh;   B. n\h\h   C. xsuq;frPg;  D. trPu; 

115. The sites of old stone age in India are 
A. Sivaleri    B. Attirampakkam  C. Humpi   D. Vaisali 
gioa fw;fhy kf;fs; ,e;jpahtpy; tho;e;j ,lq;fspy; xd;W 
A.rptNyhp   B.    mj;jpuk;ghf;fkmj;jpuk;ghf;fkmj;jpuk;ghf;fkmj;jpuk;ghf;fk;  C. `k;gp   D. itrhyp 

116. The last Governor General and the first Viceroy of India was 
A.Lord Ripon   B. Lord Canning C.Lord Curzon  D. Lord Lytton 
,e;jpahtpd; filrp MSeh; kw;Wk; Kjy; itrpuha; 
A. hpg;gd; gpuG   B.    fhdpq;gpuGfhdpq;gpuGfhdpq;gpuGfhdpq;gpuG  C. fh;rd; gpuG  D. ypl;ld; gpuG 

117. Bharatanatyam came to be developed during the period of 
A. Cholas    B. Cheras   C. Pandiyas   D. Pallavas 
gujehl;bak; Njhd;wpa fhyk; 
A.    Nrhoh;Nrhoh;Nrhoh;Nrhoh;   B. Nruh;   C. ghz;bah;  D. gy;yth; 

118. The mother of Vardhamana was 
A.. Yashoda   B. Yashodhara  C. Meera   D. Trisala 
th;j;jkhdhpd; jhahh; 
A. aNrhjh   B. aNrhjiu  C. kPuh   D.    jphpriyjphpriyjphpriyjphpriy 

119. The diamond throne was given of Lord Ranganatha at Sri Rangam by 
A. Achutappa Nayak     B. Vijaya Kumara Nayak 
C.Thimmappa Nayak     D. Sevappa Nayak 
=uq;f uq;fehj Rthkpf;F iturpk;khrdk; toq;fpath; 
A.    mr;Rjg;g ehaf;fh;mr;Rjg;g ehaf;fh;mr;Rjg;g ehaf;fh;mr;Rjg;g ehaf;fh;     B. tp[aFkhu ehaf;fh; 
C. jpk;kg;g ehaf;fh;     D. Nrtg;g ehaf;fh; 

120. Virapandiya Kattabomman became a poligar in 
A. 1761 A.D.   B. 1790 A.D.   C. 1795 A.D.   D. 1767 A.D. 
tPughz;ba fl;lnghk;kd; ghisaf;fhuh; Md Mz;L 
A.fp.gp. 1761   B.    fp.gp. 1790fp.gp. 1790fp.gp. 1790fp.gp. 1790  C. fp.gp. 1795  D. fp.gp. 1767 

121. The Constitution of India came into force on 
A.26th January, 1950     B. 15th August, 1947 
C. 26th January, 1947     D. 15th August, 1945 
,e;jpa murpayikg;G eilKiwf;F te;j Mz;L 
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A.    26 [dthp> 195026 [dthp> 195026 [dthp> 195026 [dthp> 1950     B. 15 Mf];L> 1947 
C. 26 [dthp> 1947     D. 15 Mf];L> 1945 

122. The term of the Legislative Assembly of Jammu and Kashmir is 
A. 6 years    B. 5 years   C. 7 years   D. 4 years 
[k;K kw;Wk; fh\~;kPh; khepyj;jpd; rl;lg;Nguitapd; gjtpf;fhyk; 
A.    6 Mz;Lfs6 Mz;Lfs6 Mz;Lfs6 Mz;Lfs;      B. 5 Mz;Lfs;  C. 7 Mz;Lfs;  D. 4 Mz;Lfs; 

123. Local self Government was introduced by 
A.Lord Ripon   B. Gandhiji   C. Indira Gandhi  D. Rajiv Gandhi 
,e;jpahtpy; ,f;fhyj;jpy; nraw;gLk; cs;shl;rp mikg;ig Kjd; Kjypy; eilKiwg;gLj;jpath; 
A.    hpg;gd; gpuGhpg;gd; gpuGhpg;gd; gpuGhpg;gd; gpuG   B. fhe;jpabfs;  C. ,e;jpuhfhe;jp  D. uh[Pt;fhe;jp 

124. In which year did the Government announce the National Population Policy? 
A. February 2000   B. January 2001 C.August 1999  D. October 2002 
Njrpa kf;fs; njhif nfhs;ifia ,e;jpa murhq;fk; mwptpj;j Mz;L  
A.gpg;uthp> 2000   B. [dthp> 2001 C.Mf];L> 1999  D. mf;Nlhgh;> 2002 

125. Centrally administered areas are 
A.Cantonment Boards     B. Town Area Committees 
C.Notified Area Committees    D. Townships 
ika murpd; eph;thfj;jpw;Fl;gl;l gFjpfs; 
A.,uhZtf; $l thhpaq;fs,uhZtf; $l thhpaq;fs,uhZtf; $l thhpaq;fs,uhZtf; $l thhpaq;fs;    B. efu vy;iyg;gFjp 
C.Fwpg;gpl;l vy;iyg;gFjp FOf;fs;   D. efhpak; 

126. Which year is taken as the base year in India to estimate the National Income at constant prices? 
A.1993 – 94   B. 1980 – 81   C. 1970 – 71   D. 1960 – 61 
ve;j Mz;il mbg;gil Mz;lhff; nfhz;L ,e;jpahtpy; epiyahd tpiyapy; ehl;L tUkhdk; 
fzf;fplg;gLfpwJ? 
A.1993 – 94   B. 1980 – 81   C. 1970 – 71   D. 1960 – 61 

127. ‘Money is that which does’ This is defined by 
A. Crowther   B. Irving Fisher  C. Walker   D. Shapiro 

‘ ; vijnay;yhk; nra;aty;yNjh mJNt gzk’ ; tiuaWjjktu; 
A. ;fpnusj;jh;   B. ,h;tpq; /gp\~h;  C.    thf;fhthf;fhthf;fhthf;fh;   D. rhg;gpNuh 

128. In which year was the National Policy on Education (NPE) formulated? 
A. 1981    B. 1986   C. 1985   D. 1984 
Njrpa fy;tpf; nfhs;if cUthf;fg;gl;l Mz;L 
A. 1981    B. 1986   C. 1985   D. 1984 

129. The concept ‘Division Of Labour’ was introduced by 
A.Adam Smith   B. Alfred Marshall C.J. M. Keynes  D. Samuelson 

‘NtiygFg;G Kiw’ vd;w fUj;ij mwpKfg;gLj;jpath; 
A.    Mlk;];kpjMlk;];kpjMlk;];kpjMlk;];kpj;   B. My;/gpul; khh;\y; C. J.M. fPd;];  D. rhKNty;rd; 

130. The duration of 11th Five Year Plan is 
A. 2007 – 2012   B. 2002 – 2007 C.2012 – 2017  D. 1997 – 2002 
gjpNdhuhk; Ie;jhz;Lj; jpl;lf; fhyk; 
A.    2007 – 2012   B. 2002 – 2007 C.2012 – 2017  D. 1997 – 2002 

131. The river basins are ________ per cent of the total geographical area in the world 
A. 40    B. 50    C. 60    D. 70 

cyfpd; nkhj;j epyg;gug;gpy;; ______ tpOf;fhL Mw;W tbepyq;fshf cs;sD. 
A.    40    B. 50    C. 60    D. 70 

132. Waterborne disease is 
A. Cholera    B. Leprosy   C. Yellow fever  D. Malaria 
ePh; Rke;J tUk; Neha; 
A.fhyuhfhyuhfhyuhfhyuh    B. njhONeha;  C. kQ;rs; Ruk;  D. kNyhpah 

133. The largest continent in the world is 
A. Africa    B. Asia   C. North America  D. Europe 
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cyfpd; kpfg;nghpa fz;lk; 
A. Mg;gphpf;fh   B.    MrpahMrpahMrpahMrpah   C. tl mnkhpf;fh  D. INuhg;gh 

134. Which planet is called a snowball? 
A.Earth    B. Saturn   C. Mars   D. Pluto 
gdpg;ge;J vd miof;fg;gLk; Nfhs; 
A. G+kp    B. rdp   C. nrt;tha;     D.    G@l;NlhG@l;NlhG@l;NlhG@l;Nlh 

135. Molten Rock in underground is called 
A. Magma   B. Lava  C.Igneous rock   D. Sedimentary rock 
Gtp xl;bw;F fPNo ,Uf;Fk; ghiwf; Fok;G 
A.    khf;khkhf;khkhf;khkhf;kh   B. yhth   C. jPg;ghiw   D. gbTg;ghiw 

136. The 44th Amendment Act, 1978 abolished 
A. Right to property     B. Right to equality  
C. Right to freedom        D. Right to freedom of religion 
1978 Mk; Mz;L 44-tJ murpayikg;Gr; rl;lj;jpUj;jj;jpd;gb ePf;fg;gl;l chpik 
A.    nrhj;Jhpiknrhj;Jhpiknrhj;Jhpiknrhj;Jhpik      B. rkj;Jt chpik  
C.Rje;jpuj;jpw;fhd chpik    D. rkar; Rje;jpuj;jpw;fhd chpik 

137. Permanent number of members in the Security Council of the UNO is 
A. 4    B. 5    C. 10    D. 15 
I.eh. ghJfhg;G Nguitapy; epue;ju cWg;gpdh;fspd; vz;z;pf;if 
A. 4    B. 5    C. 10    D. 15 

138. Human Rights day is observed on 
A. December 10   B. December 14 C. December 20  D. December 24 
kdpj chpikfs; jpdk; filg;gpbf;fg;gLk; ehs; 
A.    brk;gh; 10brk;gh; 10brk;gh; 10brk;gh; 10   B. brk;gh; 14  C. brk;gh; 20  D. brk;gh; 24 

139. India 2020 – A Vision for New Millennium (1988) was Written by 
A. Indira Gandhi   B. L. K. Advani  C. Manmohan Singh D. Abdul Kalam 

‘,e;jpah-2020 Gjpa E}w;whz;bw;fhd xU ghh;it (1998)’ vd;w Gj;jfj;ij vOjpath; 
A. ,e;jpuhfhe;jp   B. L.K. mj;thdp C. kd;Nkhfd;rpq;  D.    mg;Jy; fyhk;mg;Jy; fyhk;mg;Jy; fyhk;mg;Jy; fyhk; 

140. Republic Day is observed on 
A. 26th December  B. 26th February C.26th November  D. 26th January 
FbauR jpdk; mDrhpf;fg;gLk; ehs; 
A. 26 brk;gh;   B. 26 gpg;uthp   C. 26 etk;gh;  D.    26 [dthp26 [dthp26 [dthp26 [dthp 

141. Currency with the public is known as 
A. M1   b. M2    C. M3    D. M4 
nghJ kf;fsplk; cs;s Gof;fg; gzk; vd;gJ 
A.    M1    B. M2    C. M3    D. M4 

142. There exists a direct relationship between 
A. Price and Demand  B. Price and Supply C. Price and Income  D. Price and Tax 
,tw;wpw;fpilNa Neub cwT fhzg;gLfpwJ? 
A. tpiy kw;Wk; Njit    B.    tpiy kw;Wk; mspg;Gtpiy kw;Wk; mspg;Gtpiy kw;Wk; mspg;Gtpiy kw;Wk; mspg;G 
C. tpiy kw;Wk; tUkhdk;    D. tpiy kw;Wk; thp 

143. Equilibrium price equalizes 
A. Demand and supply     B. Demand and Income 
C. Supply and Production     D. Demand and utility 
rkepiy tpiy fPo;f;fz;ltw;Ws; vjid rkd;gLj;JfpwJ? 
A.    Njit kw;Wk; mspg;GNjit kw;Wk; mspg;GNjit kw;Wk; mspg;GNjit kw;Wk; mspg;G    B. Njit kw;Wk; tUkhdk; 
C. mspg;G kw;Wk; cw;gj;jp    D. Njit kw;Wk; gad;ghL 

144. The changing agent of the society is 
A. Consumer   B. Entrepreneur C.Labourer  D. Distributor 
rKjhak; khw;wk; fhZk; Kfth; 
A.Efh;Nthh;   B.    njhopy;KidNthhnjhopy;KidNthhnjhopy;KidNthhnjhopy;KidNthh; C.ciog;ghsh; D. tpdpNahf];jh; 
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145. Red tapism and corruption lead to 
A. inefficiency of production    B. inequality of income and wealth 
C.absence of technology     D. efficient use of resources 
nkJthd NtiyAk;> ifA+l;Lk; fPo;f;fz;ltw;Ws; vjw;F fhuzkhf tpsq;FfpwJ 
A. cw;gj;jpapd; jpwikf; FiwT  B.tUkhdk; kw;Wk; nry;tj;jpy; Vw;wj; jho;TtUkhdk; kw;Wk; nry;tj;jpy; Vw;wj; jho;TtUkhdk; kw;Wk; nry;tj;jpy; Vw;wj; jho;TtUkhdk; kw;Wk; nry;tj;jpy; Vw;wj; jho;T 
C. njhopy; El;gkpd;ik    D. tsq;fisj; jpwikahf gad;gLj;Jjy; 

146. Which is the simplest of all cycles? 
A. Nitrogen cycle   B. Carbon cycle C.Phosphorus cycle  D. Water cycle 
Row;rp ,af;fq;fspNyNa vspikahdJ 
A. iel;u[d; Row;rp  B. fhh;gd; Row;rp C. gh];gu]; Row;rp D.    ePh; Row;rpePh; Row;rpePh; Row;rpePh; Row;rp 

147. How many layers does the atmosphere consist? 
A. 5    B. 7    C. 6    D. 9 
tspkz;lyj;jpy; cs;s mLf;Ffspd; vz;zpf;if 
A.    5    B. 7    C. 6    D. 9 

148.  A typical gyre displays _______ types of currents 
A. three    B. four    C. six    D. five 
xU #oypy; cs;s ePNuhl;lq;fs; 
A. %d;W   B.    ehd;Fehd;Fehd;Fehd;F   C. MW   D. Ie;J 

149. The broadcasting earth ecosystem is 
A. hydrosphere   B. lithosphere  C. biosphere   D. atmosphere 
Gtpapd; kpfg;gue;j #o;njhFjp 
A. ePh;f;Nfhsk;   B. ghiwf;Nfhsk; C.    caph;f;Nfhskcaph;f;Nfhskcaph;f;Nfhskcaph;f;Nfhsk;  D. thAf;Nfhsk; 

150. The highest plateau of the world is 
A.Deccan    B. Colorado   C. Tibet   D. Malwa 
cyfpNyNa kpf caukhd gPlG+kp 
A. jf;fhzk;   B. nfhyuhNlh  C.    jpngj;jpngj;jpngj;jpngj;   D. khstk; 
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